TR 24 FEREHEAEER

A A R

BIERE LGy /91 B)
RAUR

= % 1- DU 5 2. DU 5 37U % 47U

(4A6H8B~785H8) (7B4B~10848H) (10A4B8~1878) 1A7B~4848)
1 127 =+ 05 *! 121 £+ 1.0** 127 X 11 124 =+ 16
2 135 = 1.0 *' 129 =+ 1.1*4 134 X+ 11 131 = 10
3 112 =+ 15 *? 107 = 1.1 113 £ 09 111 X 06
4 146 + 2.0 *2 141 =*= 1.7 146 =+ 09 143 =+ 0.6
5 158 £ 11 153 =+ 1.0*° 159 =+ 0.0*S 153 =+ 0.6*’
6 107 X 1.7 101 =+ 15** 109 £ 09 106 = 1.6
7 112 X 06 108 =+ 1.9*5 112 =+ 05*S 109 + 1.6*7
8 140 =+ 06 *° 136 = 1.5 141 £ 05 138 + 06*®
9 120 + 1.0 *3 116 = 0.6 121 £ 09 119 = 00
10 106 =+ 0.0 *3 102 £ 15 107 £ 05 107 =+ 06*®

x 1 REHMIE4A58~7 A5 BTHS,
x2: REHMT486B~7 8 4BTHS,
*3: FREHMIT4 A5H~7T R 4BTH%,
x4 FREHMETAS58~10 A4 BTHS,
*5: REMMEIE7AS5B~10A5BTHS.
*x6: REHMIT1I0A58~1 A8 HTHS,
x7: BRI 1 B8 HA~4 A5 ATH%
*8: HEHMEFT1ATBE~4A5ATHS.
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